turtle BE

turtle FEHEA: F 1966 4F, B 3F LOGO 4 1B = 0y K T 22 ) bR 8% | i
MR G E B /ANEA, BT HEAEW.H S ¥, 5k 8 Python
5l A, B H Python B — 1 FR#EE

5.1 isfrPhBiikE

i turtle PRI KR (b B ANE - 1 4 5 8 m AR A Kb, — /S fa
(i 58) 78 H i 4% BRAR AR @ AT, R AT il B i 1 2 il BUE . X5 T/ 1 i
F AT R IR HERE S ICATAT O HORAT I Ia) A 45 1 HE e R A A
WL iy 22 i BsF o /08 5 #7181 AR (9 T R e, b A B A AR R O 00 T8 A AR
J& turtle i B AL B X 3L AT DLAE SO RN RTRD s 7 B . BRI A
A LU PAOE 20 Coopl | ] B4 {325 0T)
o turtle. screensize(width, height,bg) : Z%45 5| W 47 B Fe 75« 15 5
g, Horb, v R R BB R
o turtle. setup(width, height, startx, starty) : Z%{ width f1 height &
7N TEFN R S R BRI RARAR R 5 /NN R R T BB RERY L
. ZHL startx I starty R P52 B5fHE 20 b A T00 8 A9 48 ) R ) B
B IR W AL T R L .
i -

turtle.screensize (800,600, "green")

FRBEETE 800 1R FK 5 600 1R R i s 0 S0 (1) 1 A, L B 78 B b e,

Hrp s A w04 white(F ) .black (B %), grey (K1) . darkgreen (3

4 f0) .gold(4: 1) . violet (R E ) .purple(ZE ) .red (£ 5) .blue (¥ &) %5,
An .

turtle.setup (width=400,height=300, startx=200, starty=100)

ik
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turtle.setup (400, 300, 200, 100)

i% WET 400 4% .5 300 R E R imAn . oA L AR ERERA LA TS A W A1\ e #E
R 200 {2 FE N 100 R &K,

5.2 miEBRHE

5.2.1 EEAK

o

=]

o turtle. pensize(width) ; KB HEEW TCJE , AN 2B XK,

« turtle. pencolor(color) . B & M2 Hi {0, WA S HAL A, MR (8] 24 A i 28 S
i, Al LU FEAF RN green. red, AT LUJE RGB =J04 .,

» turtle. penupO) : AR MZE, Z G M ZEANLFH FE .

o turtle. pendownO : & T %, Z J5 5 o) il 2£ K 22 1 KDE

o turtle. speed(speed) : W E MEM SN . WER AT H R0, 10 75 F N B
B, B U B Bl R

5.2.2 EEEzHhed

* turtle. forward(distance) : [a] 4§ {ij ] 2& J5 [ £ 3y distance {R KL,

* turtle. backward(distance) : [n] 24 {ij il 25 40 ) /7 0] % 3 distance 2 2 K &

o turtle. right(degree) : A £# 3l degree fi )&,

o turtle. left(degree) . WA 41 F 8 degree MR,

o turtle. goto(x,y) : ¥ ZEFL 3 B ARy (x, y) BIHLE .

o turtle. circle )+ ][R, 242 K 1E (51 o R B0 A 1128 1Y 22 30 (7 10 i 5]

o turtle. setxO) : K407 X AL shBFE SN0 HE .

o turtle. sety ) H4 2401 Y AL 5h 245 E 1 &

o turtle. setheading(angle) : & & a4 N angle ff &,

o turtle. home () : U # 4 Fi I 25 7 B hy J5t i, W m) 2R

o turtle. dot(r) . £ —A~48 & H AR MBI A0 5] 45 .

o B AT A RN AR X AR R DX - A X6 A B R AR N T A A PR A I A R
IR AN BN o i DAL i A Ay v A 8 A AR R A B AR Y AR RN S R AR AR A L 9 dn 90° 2
fRIEJL Ty . turtle. seth(Cangle) B Y £A 002 46 %5 £ 5 5 ARDX £ 32 % DL s 8 A B 1Y
T3 1) Ry vpoC ST I AR RE AR BR R Y AR RE L I 20 FEAE B Y, B turtde. left Cangle) | turtle.
right Cangle) H i) £ B 02 AH X £ B2
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5.2.3

5.3

5.4

B EE <

turtle, fillcolor(colorstring) . £ K B4 E 78 & {4, .

turtle. color(colorl,color2): [Af}i% & pencolor=—colorl.fillcolor=—color2,
turtle. filling O : 3% [8] 4 /i 2 5 7E H AR

turtle. begin_fillO) . ME&F IR T KIE .

turtle. end_fillO) : 3 75 5€ A

turtle. hideturtleO) : FRJEE 2 1 turtle JEAR .

turtle. showturtle) . B/RHEZ R turtle JEAK .

Hofthan %

turtle. clear() : 7&E2S turtle %5 O ,{H 2 turtle B B FALIRES AL 28,

turtle. resetO) : {EZH O, HE turtle IR BRGNS,

turtle. undoO) : (44 L —1> turtle ZfifE.

turtle. isvisibleO) : 1R [ 24 {ij turtle &5 0] UL,

stamp() :» & il 77 K .

turtle. write(s [ ,font= ("font-name", font_size, "font_type")]): B X A& ,s H X
AN font J&FIRA S 4L, font-name ., font_size 1 font_type 43 5l B F K 4 FR |
FNFNZER . font ZECH AT ¥EIH , font-name . font_size Fl font_type o4& 0] LI ,
turtle. mainloop() 8§ turtle. done() : JB hFH TG , 4 ] turtle & i) mainloop PR
B, AU B R Y 1 SR Ja — S R

turtle. mode(mode=None) : & & il £ #I A 4 standard, logo & world, Jf $i47 H
B WREA g AL, R MY TR H, standard R W) A7 (AR B0 I
Et . logo R ) I (Ab) st £

turtle. delay(delay=None) . ¥ & iR [7] DL 2 F0 Ry B4 10 22 R SER .

turtle. begin_poly O : FFIRICRZ LM T 43 . Y1 A I 2 07 & & 2 P i 5 —
AT

turtle. end_poly O : 5105 2B BT AT . YA Y i 28 47 B 02 2 0B 1 i s —
AT B 55— TR

turtle. get_polyO . iRl /Fic FHZ LT .

7 1 52 16

(61 5-11 22 KR BHAE . i iEl 5-1 B,

g P R . AN 5-2 B MR ST R - BOA TS 1) 2 IR R 0L 55 — WAl im ZE B8 5l 200
2 USRI 1) 22 G417 1 w22 1707, 9 1 T 180 il i 28 26 — kB 3h 200 B K,
MRS A B R 36 Y[l B 5, BRI TE
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/e 170
HiI#E200{5 2%

&
I

I /{5 170

HIE200(8.2 RS

FEER36K [ 2|
B 52 KEZKEIRE

PR INTE
import turtle
turtle.color ("red", "yellow") #1512 R0 78 B G
turtle.begin f£ill () #FF IR
for i in range (36) : #36 G IH
turtle.forward (200) #HTPE 200 B &
turtle.left (170) #16 ZE i # 170°
turtle.end fill () #IH5E
turtle.mainloop () #J Bh F A AE
(61 5-2 2z s 2 Wnisl 5-3 B .

A

./ \ 4
»‘«

Done
>

Es53 ERE
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FEFF AR INT
import turtle
turtle.pensize (5) # U B T 2 i
turtle.pencolor ("yellow") #1515 B 6
turtle.fillcolor ("red") #1% B HI A
turtle.begin fill ()
fori in range (5) :
turtle.forward (200)
turtle.right (144) 1) A e 144°
turtle.end fill()
turtle.penup () #3678 1 2E
turtle.goto (70,-140) #5E fir
turtle.color ("violet™") #1% B i
turtle.write ("Done", font= ('Arial', 20, 'normal')) # 5 F
turtle.mainloop ()
(61 5-3)  Z:lless e 5 e an el 5-4 Fiow .,

G R R . UM 5-5 B s B So VB — R AT T B A% 2 im 2 L 1] 22 i e 907, 1 FF 4
U 2 58 A — AN IETTIE o R ISR R B B 5 AN L R ZE i B A5 AR AN IE TS
B . XHEAEIS 8 YA,

l:T W=

B B

B 5-4 EFFEHRE B 55 EAENEERER

PRI INT

from turtle import *

d=120

setup (800, 600,300, 400) #UE B A
color ('red'")

pensize
for i in
for

(4)

range (8) : #RIEAR 8 IK
j in range (4) : #/NMEER 4 IR
forward (d)

left (90)

penup ()
forward (d)
pendown ()
left (45)
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(6] 5-41 21250 fff A K 5-6 iR .

AR WK 57 R, mAS S AT MR N — A SR WG A
A=0°, %3 d =100, [ £ ¥4 108°, %8 d, = 1. 618d., F-In] £ i 5% 144°, % 8h d, =
1. 618d, 5E AR — A =ML Ml IR 5E . AR REE. W E F I BT
d=100, % N 5 ARSI E M A=AF72° HEH WM, XFEIEH 5 W58
R 1 22

4

A
- v
)

E56 =O0REAE B57 =0RERENRER

(EAZ AL I

from turtle import *
d=100

dl=d=* 1.618

setup (800, 600,300,200)
pensize (8)
color('yellow', 'red")

A=0
for i in range (5) :

seth (A) # U A X A

begin f£ill ()

forward (d) #HTUE 100 B K

left (108) # 75w %% 108°

forward (dl) #HTHE 168 10K

left (144) #/EmEE 144°

forward (dl) #ETHE 168 B R

end fill() #IH 5

up () HE%E

forward (d) I E RGN AR 100 4%

down () #EIET

A=RA+72 # S IR A BE L 5 IR 360°

(5] 5-51 2650, mE 5-8 Arx,
YRFR . RN EIRLVE 1 A SR 54 HAENAAREEmE 6 N=MIFITHE%E,
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A
VAVAY
Aveu

E 5-8 N
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R




forward (d)
left (120)
forward (d)
left (120)
forward (d)

end fill ()
A=A+ 60
2] s

—. BE&

turtle EG T AVEF?

turtle JE (1) i A7 40 fuf % & 7
turtle J2 1) B 22 B 4nfuf 22 i 2
turtle FE AN ful £ 47 (51 JF 2 58 2
turtle i i fiife) 455 3CF7
—RESR

L. i 25 46 o IO ( ),

(S O N

A. penup(O) B. pendown() C.
2. MEEFRBEC D,

A. penup(Q) B. pendown(O) C.
3. HEEERTHE REL forward PY I B 2 5O 2 (

AL JEK B. ZX C.

A, AR R ERIA DA (0L 0) 75 1 A7 4 € )

A, LA B. fit# C.

5. 1M G pR IR ( )

A. penup(Q) B. pensize() C.

6. turtle. setheading(30) R 1% 5 ( Do

A, AHS LTy 30° B.
C. Z£mi FH 30° D.

7. turtle. left (30) &7 A X 24 /15 J5 ) )W

AL R EF AR 30° B.

C. 5 248 60° D.
8. turtle. fillcolor(colorstring) 7~ ( )6

AL 2l DB 0 30 HE 2312 B.

C. mEH6 D.
9. turtle. color(colorl,color2) 1% colorl Fir (

A, B B. HFEHI© C.

# 5%  turtle BE——

pentop() D. pensize()

pentop() D. pensize()
)

e D. &%

SRR D. AN

setup() D. pencolor

FiAy FJ7 30°
FHHEIF 30°

Wi B 30°
W B 60°

1 A5 51
2 1l U B BT LA
Do
1] A7 B3 (21 D. CFE6

10. turtle. color(colorl,color2) H1 {4 color2 FE i ( ),
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P ython 7& /7% i

A. HEZIA B. HFHIA C. A
=R

I8 A R 15 R A .

1] 2 $6 8 R AU .

YN R O .

I} 28 [ pR AU

o X6} 1 A PR U .

I} A7 £ ) B AR A 2R LA oY

T A5 PR 8 A B A7 S .

o G 1 2 11 turtle TR oA B0 .

WRHEZER turtle AR REUE .

10. i [ iy 4 2

M. &HmizH

1. GG RIF L H R &, &l 5-9 fiR.

(¥ wyman e g e |

O© 00 3 O Ul AW DN =

B 59 X#WE

2. WERFLHZ0HERE, A 5-10 Fixs,
T ==

4

B 5-10 E2OHEER





